Thursday, February 21, 2013

evaluale

$$\int \frac{3x^2 - 13x - 6}{x^2 - 6x} dx$$

$$\begin{array}{c} 3 \\ x^{2} - 6x) 3x^{2} - 13x - 6 \\ \underline{3x^{2} - 18x} \\ 5x - 6 \end{array}$$

e when the
remainder has
lower degree
than the
divisor (x'-6x)
govie dane!

$$\frac{3x^2-13x-6}{x^2-6x} = 3 + \frac{5x-6}{x^2-6x}$$
pathal Cractions

$$x(x-c)\left(\frac{5x-6}{x(x-6)}\right) = \left(\frac{A}{x} + \frac{B}{x-6}\right) \times (x-6)$$

When
$$x=6$$
 $y=6$ so $y=6$ $y=6$ $y=6$ $y=6$

$$\int \frac{3x^2 - 13x - 6}{x^2 - 6x} dx = \int \left[3 + \frac{1}{x} + \frac{4}{x - 6} \right] dx$$

$$= 3x + \ln|x| + 4\ln|x - 6| + C$$